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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
1 (a) 1146 2.3 1.4 4 56.4 98.9
1 (b) 1139 5 2.6 10 50.2 98.3

1 (c) (i) 1158 3 1.1 4 75.6 99.9
1 (c) (ii) 1153 5 2 10 50.2 99.5
1 (d) (i) 1139 3.1 1.3 6 51 98.3
1 (d) (ii) 1112 2.7 1.4 6 44.5 95.9

2 (a) 1143 0.3 0.6 2 16.6 98.6
2 (b) 1154 2.8 1.1 4 69.7 99.6
2 (c) 1148 4.4 1.7 8 55.4 99.0
2 (d) 1126 2.4 1.7 6 40.4 97.2
2 (e) 1130 5 2.3 10 50.5 97.5
2 (f) 1105 4.8 2.2 10 48 95.3
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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Answer all the questions.


1.	 MIXED PICTURE FOR UK ECONOMIC HEALTH


	 UK economic growth slowed in the three months to September 2014, with the economy 
expanding by just 0.7%, the Office for National Statistics said.


	 The figure was lower than the 0.9% increase recorded for 
the preceding second quarter and raised concerns that 
growth will continue to slow. With wages falling in real 
terms, an increase in consumer spending is unlikely and 
with the Eurozone doing badly and Chinese economic 
growth slowing, a significant increase in exports is not 
likely either, particularly given the strength of the pound, 
which has been driven up by expectations of an increase 
in UK interest rates. Nevertheless, the UK still looks set to 
be the fastest-growing advanced economy in 2014.


	 Shadow Chancellor Ed Balls said that the GDP figures 
revealed a worrying slowdown in economic growth, and 
that even when the economy was growing strongly, “most 
people are still not feeling the recovery”. He also argued that 
the UK is now the only leading economy where inequality 
is greater than at the turn of the century. As the rich have 


got richer, low and middle-income households have been hurt by falling real incomes caused 
by years of rising household bills and no wage increases. Balls had promised to reintroduce the 
50p top rate of income tax for people earning more 
than £150,000 if Labour had won the 2015 election.


	 One potential light in the darkness is the price of oil, 
which dropped sharply in the second half of 2014. 
These falling prices are caused by shifts in both 
supply and demand. The world’s slowing economy 
is reducing the demand for oil. However, thanks 
largely to America’s shale oil and gas discoveries, oil 
production since early 2013 has been 2m barrels per 
day higher than the year before. 


	 The UK imports more oil than it exports, so lower prices mean consumers get to keep more of 
their money and spend it in the UK economy. But the positive impact on demand is less than it 
used to be, as spending on oil is now a much smaller part of household expenditure. Cheaper 
oil could instead make more of a difference to monetary policy; with inflation below its 2% target, 
falling oil prices could push inflation down further, making it harder to keep inflation within target. 
At the same time falling oil prices may cause job losses in the UK’s oil and gas industry in 
Scotland.


Source: adapted www.economist.com and www.bbc.com
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Turn over.Turn over.


	 (c)	 (i)	 Using a supply and demand diagram explain why the price of oil fell sharply in the 
second half of 2014.	 [4]
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Q1 (c) (i) Using a supply and demand diagram explain why the price of oil fell sharply 
in the second half of 2014.  [4] 
 


Band 


AO1 AO2 
Is the diagram correct and is an 
understanding of why price falls present? 


Has the data been applied to 
explain the diagram? 


2 marks 2 marks 


2 


2 marks 
Good understanding of diagram. 
 
Correct diagram showing a fall in demand 
for oil combined with an increase in 
supply.  
 


Accept supply rising faster than an 
increase in demand.  
 
No major labeling errors are present and 
the diagram forms part of the answer. 


2 marks 
Good use of context. 
 
Data is well used to support the 
diagram identifying both the global 
economic slowdown and shale gas 
in the US. 
 


Each factor is linked to the relevant 
shift. 


1 


1 mark 
Limited use of diagram. 
Either the diagram has significant labeling 
errors, or it shows only one of the two 
shifts or the diagram does not form part of 
the answer. 


1 mark 
Limited use of context. 
Data identifies only one of the two 
key factors or identifies both but 
fails to link the factors to supply and 
demand. 


0 


0 marks 
No shifts in supply or demand shown (or 
incorrect ones). Or labeling is so bad that 
the diagram is incomprehensible. 


0 marks 
Case not used. 


 
Indicative content: 


 


 


 


 


          


The diagram above is also acceptable. 
 


 
Demand for oil has decreased because the world economy is slowing thus the demand 
curve has shifted to the left from D1 to D2. 
 


Supply has increased of the discovery of shale oil and gas in the US shifting the supply 
curve from S1 to S2.  
 


Overall there is an increase in the quantity of oil as a result of these changes in market 
conditions. 
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Identifies the first factor



Identifies the second factor



Correct diagram



Both factors referenced



This shows that accurate and well-used diagrams can quickly rack up points, allowing candidates more time on the longer more complex questions. A final reference to how the diagram shows falling price would have been ideal, but it is still 4 marks: AO1:2 and AO2: 2
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Shifts are right, but the diagram isn’t used and the final equilibrium isn’t shown. This isn’t worth credit.



The context hasn’t been used - there is no reference to teh real world/case - they could have guessed that the price was falling due to an increase in supply or a fall in demand, so no AO2 either.







In the end, the case isn’t used and the diagram doesn’t work, so this ended with AO1: 0 and AO2: 0.
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Q1c(i): 2



One factor shown on a correct diagram, used in text = AO1: 1.



Identifies the slowing world economy as a factor, AO2: 1.



The answer does not look at the impact of US shale gas discoveries and therefore is limited to band 1 in each category. AO1: 1 and AO2: 1
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2.	 WAR ON SMOKERS CONTINUES


	 Tobacco is grown all over the world including parts of southern Europe and the Far East. The 
tobacco plant has to be treated with pesticides which damage the health of tobacco farmers who 
are often unaware of the dangers associated with tobacco cultivation. These pesticides along 
with fertilisers end up in soils, waterways and the food chain. Tobacco takes four months to grow 
and the crop yield is affected by changing weather conditions. Because tobacco is a perishable 
commodity, it has to be processed quickly following its harvesting to avoid deterioration. The 
short run price elasticity of supply for tobacco is +0.34.


	 Tobacco is used to make 
cigarettes and there are now 
moves in the UK to introduce 
plain packaging as part of the 
latest campaign in the war against 
smoking (see Figure 1). Over the 
past decade there has been a 
ban on smoking in public places 
and moves to restrict displays in 
shops. In countries like the UK 
where there is already a ban on 
advertising, the packet remains 
the last major method of promotion 
by well-known brands. More than 
200,000 under 16s start smoking 
in the UK each year and replacing 
eye-catching brands with plain 
packaging will hopefully reduce the appeal of cigarettes to young people.


Figure 1


Figure 2


	 A review of the public health implications of standardised plain packaging last year concluded it 
was very likely that their introduction would lead to a small but important reduction in smoking. 
A 2% fall in sales has been predicted. However, UKIP leader Nigel Farage tweeted: “Plain 
packaging is an appalling intrusion into consumer choice and the operation of the free market. 
Jobs and tax revenue would suffer.”


	 The Tobacco Manufacturers Association says that their industry directly employs 5,700 people 
in the UK and a recent study estimated that a further 80,000 jobs among suppliers, and in 
wholesale, distribution and retailing were dependent on the tobacco industry. Other arguments 
against plain packaging include suggestions it could lead to a fall in price or an increase in the 
illicit/black market.


	 An alternative to plain packaging is a rise in tax on tobacco products. The fiscal effects of a 5% 
rise in cigarette prices due to higher taxes is shown in Figure 3.


Smoking in the UK


•	 10 million adults smoke
•	 22% of men and 19% of women smoked in 2013
•	 51% of men and 41% of women smoked in 1974
•	 200 000 children aged 11-15 start smoking each year
•	 The cost of 20 cigarettes has risen from £2.27 in 1993 
	 to £7.98 in 2013
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Figure 3


Cost/benefit 2010-11
£ millions


2014-15
£ millions


Increased tobacco taxation revenue 427.4 439.9


NHS cost savings 23.5 31.9


Income tax/VAT revenues from longer
working lives 14.2 15.7


Income tax/VAT revenues from 
reduced absenteeism 12.6 21.0


Reduced disability benefits paid out 33.0 33.5


Increased pensioner benefits due to
longer lives –3.3 –3.9


Total 504.9 533.5


All figures at 2010 prices


Results from a public finance analysis of a 5% increase in cigarette prices.


Positive numbers = net revenue gain. Negative numbers = net revenue loss.


Source: ASH (Action for Smoking and Health)


	 Tax revenue from tobacco amounted to £12.3bn in 2012-2013 helping to reduce the soaring 
fiscal (budget) deficit of almost £100bn. However, about 7% of manufactured cigarettes and 
around a third of all hand-rolled tobacco consumed in the UK is illegal. Tobacco smuggling 
from European countries, where cigarettes are much cheaper, results in a loss to the Treasury 
of around £1.6bn a year in tax revenue. Increased subsidies for nicotine replacement therapy 
– nicotine patches, gum and lozenges – seems much less controversial than plain packaging. 
There is more evidence globally of their effectiveness in the battle against smoking than plain 
packaging.


	 (d)	 With the aid of the data discuss the view that the price elasticity of supply of tobacco is 
inelastic.	 [6]







Q.2.
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rise in cigarette prices due to higher taxes is shown in Figure 3.


Smoking in the UK


•	 10 million adults smoke
•	 22% of men and 19% of women smoked in 2013
•	 51% of men and 41% of women smoked in 1974
•	 200 000 children aged 11-15 start smoking each year
•	 The cost of 20 cigarettes has risen from £2.27 in 1993 
	 to £7.98 in 2013
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Figure 3


Cost/benefit 2010-11
£ millions


2014-15
£ millions


Increased tobacco taxation revenue 427.4 439.9


NHS cost savings 23.5 31.9


Income tax/VAT revenues from longer
working lives 14.2 15.7


Income tax/VAT revenues from 
reduced absenteeism 12.6 21.0


Reduced disability benefits paid out 33.0 33.5


Increased pensioner benefits due to
longer lives –3.3 –3.9


Total 504.9 533.5


All figures at 2010 prices


Results from a public finance analysis of a 5% increase in cigarette prices.


Positive numbers = net revenue gain. Negative numbers = net revenue loss.


Source: ASH (Action for Smoking and Health)


	 Tax revenue from tobacco amounted to £12.3bn in 2012-2013 helping to reduce the soaring 
fiscal (budget) deficit of almost £100bn. However, about 7% of manufactured cigarettes and 
around a third of all hand-rolled tobacco consumed in the UK is illegal. Tobacco smuggling 
from European countries, where cigarettes are much cheaper, results in a loss to the Treasury 
of around £1.6bn a year in tax revenue. Increased subsidies for nicotine replacement therapy 
– nicotine patches, gum and lozenges – seems much less controversial than plain packaging. 
There is more evidence globally of their effectiveness in the battle against smoking than plain 
packaging.


	 (d)	 With the aid of the data discuss the view that the price elasticity of supply of tobacco is 
inelastic.	 [6]
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Q2 (d) With the aid of the data discuss the view that the price elasticity of supply of 
tobacco is inelastic.  [6] 


Band 


AO1 AO2 AO4 
Does the answer show 
clear knowledge of price 
elasticity of supply? 


Does the answer 
explain using the 
context the inelasticity 
of supply of tobacco? 


Does the answer qualify 
whether price elasticity of 
supply is always 
inelastic? 


2 marks 2 marks 2 marks 


2 


2 marks 
Answer shows a good 
understanding of price 
elasticity of supply – 
sensitivity of supply to a 
change in price. 


2 marks 
Good use of the data 
explaining two features 
of the context, possibly 
conjoined or one well 
developed. 


 


2 marks 
Good evaluation. 
At least one evaluation 
point made well 
developed. 


 


1 


1 mark 
Limited understanding. 
Answer demonstrates a 
partial knowledge of price 
elasticity of supply, failing 
to show an understanding 
of proportionality. 
 


1 mark 
Limited use of the data 
to explain price elasticity 
of supply.  
 
 


1 mark 
Limited evaluation. 
One evaluation point 
made but not developed. 


 


0 
0 marks 


Answer shows no 
knowledge 
price elasticity of supply. 


0 marks 
No use of the data. 


0 marks 
No attempt at evaluation.  


 


 
 
Indicative content: 
 
AO1: 
 
Correct definition of price elasticity of supply or the equation or clear understanding that it 
measures the proportional responsiveness of supply to a change in price. 
 
AO2: 
Short run price elasticity of supply is inelastic:  
 
Growing season (4 months to grow),  
Perishability (can’t easily be stored)  
SR PES +0.34 (less than 1.0). 
 
AO4: 
Long run price elasticity of supply is more elastic:  
 
All factors of production variable etc.  
New areas of land can be used to grow tobacco/new countries can enter the market. 
Might be possible to store processed tobacco. 
Tobacco is grown all over the world, therefore might just be able to import. 
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2.	 WAR ON SMOKERS CONTINUES


	 Tobacco is grown all over the world including parts of southern Europe and the Far East. The 
tobacco plant has to be treated with pesticides which damage the health of tobacco farmers who 
are often unaware of the dangers associated with tobacco cultivation. These pesticides along 
with fertilisers end up in soils, waterways and the food chain. Tobacco takes four months to grow 
and the crop yield is affected by changing weather conditions. Because tobacco is a perishable 
commodity, it has to be processed quickly following its harvesting to avoid deterioration. The 
short run price elasticity of supply for tobacco is +0.34.


	 Tobacco is used to make 
cigarettes and there are now 
moves in the UK to introduce 
plain packaging as part of the 
latest campaign in the war against 
smoking (see Figure 1). Over the 
past decade there has been a 
ban on smoking in public places 
and moves to restrict displays in 
shops. In countries like the UK 
where there is already a ban on 
advertising, the packet remains 
the last major method of promotion 
by well-known brands. More than 
200,000 under 16s start smoking 
in the UK each year and replacing 
eye-catching brands with plain 
packaging will hopefully reduce the appeal of cigarettes to young people.


Figure 1


Figure 2


	 A review of the public health implications of standardised plain packaging last year concluded it 
was very likely that their introduction would lead to a small but important reduction in smoking. 
A 2% fall in sales has been predicted. However, UKIP leader Nigel Farage tweeted: “Plain 
packaging is an appalling intrusion into consumer choice and the operation of the free market. 
Jobs and tax revenue would suffer.”


	 The Tobacco Manufacturers Association says that their industry directly employs 5,700 people 
in the UK and a recent study estimated that a further 80,000 jobs among suppliers, and in 
wholesale, distribution and retailing were dependent on the tobacco industry. Other arguments 
against plain packaging include suggestions it could lead to a fall in price or an increase in the 
illicit/black market.


	 An alternative to plain packaging is a rise in tax on tobacco products. The fiscal effects of a 5% 
rise in cigarette prices due to higher taxes is shown in Figure 3.


Smoking in the UK


•	 10 million adults smoke
•	 22% of men and 19% of women smoked in 2013
•	 51% of men and 41% of women smoked in 1974
•	 200 000 children aged 11-15 start smoking each year
•	 The cost of 20 cigarettes has risen from £2.27 in 1993 
	 to £7.98 in 2013
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Figure 3


Cost/benefit 2010-11
£ millions


2014-15
£ millions


Increased tobacco taxation revenue 427.4 439.9


NHS cost savings 23.5 31.9


Income tax/VAT revenues from longer
working lives 14.2 15.7


Income tax/VAT revenues from 
reduced absenteeism 12.6 21.0


Reduced disability benefits paid out 33.0 33.5


Increased pensioner benefits due to
longer lives –3.3 –3.9


Total 504.9 533.5


All figures at 2010 prices


Results from a public finance analysis of a 5% increase in cigarette prices.


Positive numbers = net revenue gain. Negative numbers = net revenue loss.


Source: ASH (Action for Smoking and Health)


	 Tax revenue from tobacco amounted to £12.3bn in 2012-2013 helping to reduce the soaring 
fiscal (budget) deficit of almost £100bn. However, about 7% of manufactured cigarettes and 
around a third of all hand-rolled tobacco consumed in the UK is illegal. Tobacco smuggling 
from European countries, where cigarettes are much cheaper, results in a loss to the Treasury 
of around £1.6bn a year in tax revenue. Increased subsidies for nicotine replacement therapy 
– nicotine patches, gum and lozenges – seems much less controversial than plain packaging. 
There is more evidence globally of their effectiveness in the battle against smoking than plain 
packaging.


	 (d)	 With the aid of the data discuss the view that the price elasticity of supply of tobacco is 
inelastic.	 [6]







Q.2.



AO1: 1 knowledge of calculation, but understanding not developed







Understanding of proportionality, AO1:2. Also AO2 band 1 because they have applied the data to the context







Lots more application to teh context, although much of it is to do with increases in demand rather than price (a common mistake). Nevertheless, tehy clearly understand enough here to be worthy of AO2 band 2.



However, like many candidates, there was no discussion at all, meaning that no AO4 marks could be awarded. This gives a total of 4: AO1: 2 and AO2: 2.
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rise in cigarette prices due to higher taxes is shown in Figure 3.


Smoking in the UK


•	 10 million adults smoke
•	 22% of men and 19% of women smoked in 2013
•	 51% of men and 41% of women smoked in 1974
•	 200 000 children aged 11-15 start smoking each year
•	 The cost of 20 cigarettes has risen from £2.27 in 1993 
	 to £7.98 in 2013







55


Figure 3


Cost/benefit 2010-11
£ millions
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reduced absenteeism 12.6 21.0


Reduced disability benefits paid out 33.0 33.5


Increased pensioner benefits due to
longer lives –3.3 –3.9


Total 504.9 533.5


All figures at 2010 prices


Results from a public finance analysis of a 5% increase in cigarette prices.


Positive numbers = net revenue gain. Negative numbers = net revenue loss.


Source: ASH (Action for Smoking and Health)


	 Tax revenue from tobacco amounted to £12.3bn in 2012-2013 helping to reduce the soaring 
fiscal (budget) deficit of almost £100bn. However, about 7% of manufactured cigarettes and 
around a third of all hand-rolled tobacco consumed in the UK is illegal. Tobacco smuggling 
from European countries, where cigarettes are much cheaper, results in a loss to the Treasury 
of around £1.6bn a year in tax revenue. Increased subsidies for nicotine replacement therapy 
– nicotine patches, gum and lozenges – seems much less controversial than plain packaging. 
There is more evidence globally of their effectiveness in the battle against smoking than plain 
packaging.


	 (d)	 With the aid of the data discuss the view that the price elasticity of supply of tobacco is 
inelastic.	 [6]







Clear understanding of PES. AO1: 2



AO2, but it would be nice to have this linked back to a change in price.







Good use of data, reinforcing both AO1 and AO2 - happy to give band 2 for both of them now.



Decent evaluation in context



This is now worth band 2 for AO4 - well developed and related back



And there’s more. Had there been any doubt about whether the candidate had evaluated sufficiently (which I don’t think there was), this additional content guarantees a band 2 mark for AO4.



There weren’t any answers better than this one - 6/6. AO1: 2, AO2: 2, AO4: 2
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in the UK and a recent study estimated that a further 80,000 jobs among suppliers, and in 
wholesale, distribution and retailing were dependent on the tobacco industry. Other arguments 
against plain packaging include suggestions it could lead to a fall in price or an increase in the 
illicit/black market.


	 An alternative to plain packaging is a rise in tax on tobacco products. The fiscal effects of a 5% 
rise in cigarette prices due to higher taxes is shown in Figure 3.
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Results from a public finance analysis of a 5% increase in cigarette prices.


Positive numbers = net revenue gain. Negative numbers = net revenue loss.


Source: ASH (Action for Smoking and Health)


	 Tax revenue from tobacco amounted to £12.3bn in 2012-2013 helping to reduce the soaring 
fiscal (budget) deficit of almost £100bn. However, about 7% of manufactured cigarettes and 
around a third of all hand-rolled tobacco consumed in the UK is illegal. Tobacco smuggling 
from European countries, where cigarettes are much cheaper, results in a loss to the Treasury 
of around £1.6bn a year in tax revenue. Increased subsidies for nicotine replacement therapy 
– nicotine patches, gum and lozenges – seems much less controversial than plain packaging. 
There is more evidence globally of their effectiveness in the battle against smoking than plain 
packaging.


	 (d)	 With the aid of the data discuss the view that the price elasticity of supply of tobacco is 
inelastic.	 [6]







This section shows a good understanding of elasticity and is worth AO1: 2



This section was very common - PES is an area that candidates simply fail to properly understand and instead talk about PED - hence no AO2.



This could have gone somewhere had it been developed, but there isn’t enough there to reach band 1 of AO2.



There is no atttempt to discuss the elasticity, meaning that there are no AO4 marks. This means the total is 2: AO1: 2, AO2: 0, AO4: 0
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	 A review of the public health implications of standardised plain packaging last year concluded it 
was very likely that their introduction would lead to a small but important reduction in smoking. 
A 2% fall in sales has been predicted. However, UKIP leader Nigel Farage tweeted: “Plain 
packaging is an appalling intrusion into consumer choice and the operation of the free market. 
Jobs and tax revenue would suffer.”


	 The Tobacco Manufacturers Association says that their industry directly employs 5,700 people 
in the UK and a recent study estimated that a further 80,000 jobs among suppliers, and in 
wholesale, distribution and retailing were dependent on the tobacco industry. Other arguments 
against plain packaging include suggestions it could lead to a fall in price or an increase in the 
illicit/black market.


	 An alternative to plain packaging is a rise in tax on tobacco products. The fiscal effects of a 5% 
rise in cigarette prices due to higher taxes is shown in Figure 3.
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Cost/benefit 2010-11
£ millions


2014-15
£ millions
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NHS cost savings 23.5 31.9


Income tax/VAT revenues from longer
working lives 14.2 15.7


Income tax/VAT revenues from 
reduced absenteeism 12.6 21.0


Reduced disability benefits paid out 33.0 33.5


Increased pensioner benefits due to
longer lives –3.3 –3.9


Total 504.9 533.5


All figures at 2010 prices


Results from a public finance analysis of a 5% increase in cigarette prices.


Positive numbers = net revenue gain. Negative numbers = net revenue loss.


Source: ASH (Action for Smoking and Health)


	 Tax revenue from tobacco amounted to £12.3bn in 2012-2013 helping to reduce the soaring 
fiscal (budget) deficit of almost £100bn. However, about 7% of manufactured cigarettes and 
around a third of all hand-rolled tobacco consumed in the UK is illegal. Tobacco smuggling 
from European countries, where cigarettes are much cheaper, results in a loss to the Treasury 
of around £1.6bn a year in tax revenue. Increased subsidies for nicotine replacement therapy 
– nicotine patches, gum and lozenges – seems much less controversial than plain packaging. 
There is more evidence globally of their effectiveness in the battle against smoking than plain 
packaging.


	 (d)	 With the aid of the data discuss the view that the price elasticity of supply of tobacco is 
inelastic.	 [6]
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A 2% fall in sales has been predicted. However, UKIP leader Nigel Farage tweeted: “Plain 
packaging is an appalling intrusion into consumer choice and the operation of the free market. 
Jobs and tax revenue would suffer.”
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wholesale, distribution and retailing were dependent on the tobacco industry. Other arguments 
against plain packaging include suggestions it could lead to a fall in price or an increase in the 
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Figure 3


Cost/benefit 2010-11
£ millions


2014-15
£ millions
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Total 504.9 533.5


All figures at 2010 prices


Results from a public finance analysis of a 5% increase in cigarette prices.


Positive numbers = net revenue gain. Negative numbers = net revenue loss.


Source: ASH (Action for Smoking and Health)


	 Tax revenue from tobacco amounted to £12.3bn in 2012-2013 helping to reduce the soaring 
fiscal (budget) deficit of almost £100bn. However, about 7% of manufactured cigarettes and 
around a third of all hand-rolled tobacco consumed in the UK is illegal. Tobacco smuggling 
from European countries, where cigarettes are much cheaper, results in a loss to the Treasury 
of around £1.6bn a year in tax revenue. Increased subsidies for nicotine replacement therapy 
– nicotine patches, gum and lozenges – seems much less controversial than plain packaging. 
There is more evidence globally of their effectiveness in the battle against smoking than plain 
packaging.


	 (e)	 With the aid of a diagram and using the data, evaluate the effects of a 5% increase in the 
price of cigarettes brought about by a rise in indirect taxes.	 [10]
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	 Tax revenue from tobacco amounted to £12.3bn in 2012-2013 helping to reduce the soaring 
fiscal (budget) deficit of almost £100bn. However, about 7% of manufactured cigarettes and 
around a third of all hand-rolled tobacco consumed in the UK is illegal. Tobacco smuggling 
from European countries, where cigarettes are much cheaper, results in a loss to the Treasury 
of around £1.6bn a year in tax revenue. Increased subsidies for nicotine replacement therapy 
– nicotine patches, gum and lozenges – seems much less controversial than plain packaging. 
There is more evidence globally of their effectiveness in the battle against smoking than plain 
packaging.


	 (e)	 With the aid of a diagram and using the data, evaluate the effects of a 5% increase in the 
price of cigarettes brought about by a rise in indirect taxes.	 [10]
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	 A review of the public health implications of standardised plain packaging last year concluded it 
was very likely that their introduction would lead to a small but important reduction in smoking. 
A 2% fall in sales has been predicted. However, UKIP leader Nigel Farage tweeted: “Plain 
packaging is an appalling intrusion into consumer choice and the operation of the free market. 
Jobs and tax revenue would suffer.”


	 The Tobacco Manufacturers Association says that their industry directly employs 5,700 people 
in the UK and a recent study estimated that a further 80,000 jobs among suppliers, and in 
wholesale, distribution and retailing were dependent on the tobacco industry. Other arguments 
against plain packaging include suggestions it could lead to a fall in price or an increase in the 
illicit/black market.


	 An alternative to plain packaging is a rise in tax on tobacco products. The fiscal effects of a 5% 
rise in cigarette prices due to higher taxes is shown in Figure 3.


Smoking in the UK


•	 10 million adults smoke
•	 22% of men and 19% of women smoked in 2013
•	 51% of men and 41% of women smoked in 1974
•	 200 000 children aged 11-15 start smoking each year
•	 The cost of 20 cigarettes has risen from £2.27 in 1993 
	 to £7.98 in 2013
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Figure 3


Cost/benefit 2010-11
£ millions


2014-15
£ millions


Increased tobacco taxation revenue 427.4 439.9


NHS cost savings 23.5 31.9


Income tax/VAT revenues from longer
working lives 14.2 15.7


Income tax/VAT revenues from 
reduced absenteeism 12.6 21.0


Reduced disability benefits paid out 33.0 33.5


Increased pensioner benefits due to
longer lives –3.3 –3.9


Total 504.9 533.5


All figures at 2010 prices


Results from a public finance analysis of a 5% increase in cigarette prices.


Positive numbers = net revenue gain. Negative numbers = net revenue loss.


Source: ASH (Action for Smoking and Health)


	 Tax revenue from tobacco amounted to £12.3bn in 2012-2013 helping to reduce the soaring 
fiscal (budget) deficit of almost £100bn. However, about 7% of manufactured cigarettes and 
around a third of all hand-rolled tobacco consumed in the UK is illegal. Tobacco smuggling 
from European countries, where cigarettes are much cheaper, results in a loss to the Treasury 
of around £1.6bn a year in tax revenue. Increased subsidies for nicotine replacement therapy 
– nicotine patches, gum and lozenges – seems much less controversial than plain packaging. 
There is more evidence globally of their effectiveness in the battle against smoking than plain 
packaging.


	 (e)	 With the aid of a diagram and using the data, evaluate the effects of a 5% increase in the 
price of cigarettes brought about by a rise in indirect taxes.	 [10]
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Q2 (e) With the aid of a diagram and using the data evaluate the effects of a 5% 
increase in the price of cigarettes brought about by a rise in indirect taxes. 
    [10] 
 


Band 


AO1 AO3 AO4 
Is the diagram correct and 
understanding shown? 


Does the answer 
explain some effects of 
the rise in indirect 
taxes? 


Are the effects qualified 
or other opposite effects 
identified and explained? 


2 marks 4 marks 4 marks 


2 


2 marks 
Good understanding of 
diagram. 
Correct diagram showing 
the supply curve shifting 
divergently or parallel to the 
left giving a higher price 
and a lower quantity 
demanded. Diagram is well 
used as part of the answer. 


3-4 marks 
Good analysis. 
At least two well-
developed effects are 
explained (bottom band 
might be one well-
developed and one 
partially developed) or 
one very developed 
point has been made. 
 


3-4 marks 
Good evaluation. 
At least two evaluation 
points are made with at 
least one of these being 
well-developed and the 
answer overall has used 
the context effectively. 


1 


1 mark 
Limited understanding of 
diagram. 
Some minor errors on the 
diagram or diagram is not 
incorporated into the 
response. 


1-2 marks 
Limited analysis of price 
increase. 
Some effects identified 
or one explained in 
detail.  


1-2 marks 
Limited evaluation. 
A few evaluative points 
identified without being 
well-developed or only 
one point is made even 
though it is well-
developed. 


0 
0 marks 


No diagram drawn or 
attempt at diagram is 
completely incorrect. 


0 marks 
No plausible effects 
identified. 


0 marks 
No attempt at evaluation 


 
 
Indicative content: 
 
Correct diagram: 
 
Either diagram below is acceptable. 
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Marker notes: 
 
Diagram is worth 2 by itself if incorporated (2), then allow up to 4 for one side 
(positive/negative effects) (AO3) and 4 for the other (negative/positive effects) (AO4). To get 
band 2 AO4, the answer must use the context effectively on one side or the other. 
 
Possible effects: 
 
Increased price deters/reduces consumption (data figure 2) but demand may be price 
inelastic. 
 
Improved health less demand on the NHS (figure 3). 
 
Improved fiscal position tax revenue etc (data figure 3) but pensioner benefits increase due 
to increased life expectancy. 
 
Less passive smoking damage/litter/fires. 
 
Improved productivity fewer days lost dues to sickness and cigarette breaks. 
 
Internalises the externality but difficult to measure the value of external costs. 
 
Increased price of cigarettes can impact negatively on inflation. 
 
Damage to employment and output in the UK (data). 
 
Increased smuggling/illicit purchase/avoidance (data). 
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2.	 WAR ON SMOKERS CONTINUES


	 Tobacco is grown all over the world including parts of southern Europe and the Far East. The 
tobacco plant has to be treated with pesticides which damage the health of tobacco farmers who 
are often unaware of the dangers associated with tobacco cultivation. These pesticides along 
with fertilisers end up in soils, waterways and the food chain. Tobacco takes four months to grow 
and the crop yield is affected by changing weather conditions. Because tobacco is a perishable 
commodity, it has to be processed quickly following its harvesting to avoid deterioration. The 
short run price elasticity of supply for tobacco is +0.34.


	 Tobacco is used to make 
cigarettes and there are now 
moves in the UK to introduce 
plain packaging as part of the 
latest campaign in the war against 
smoking (see Figure 1). Over the 
past decade there has been a 
ban on smoking in public places 
and moves to restrict displays in 
shops. In countries like the UK 
where there is already a ban on 
advertising, the packet remains 
the last major method of promotion 
by well-known brands. More than 
200,000 under 16s start smoking 
in the UK each year and replacing 
eye-catching brands with plain 
packaging will hopefully reduce the appeal of cigarettes to young people.


Figure 1


Figure 2


	 A review of the public health implications of standardised plain packaging last year concluded it 
was very likely that their introduction would lead to a small but important reduction in smoking. 
A 2% fall in sales has been predicted. However, UKIP leader Nigel Farage tweeted: “Plain 
packaging is an appalling intrusion into consumer choice and the operation of the free market. 
Jobs and tax revenue would suffer.”


	 The Tobacco Manufacturers Association says that their industry directly employs 5,700 people 
in the UK and a recent study estimated that a further 80,000 jobs among suppliers, and in 
wholesale, distribution and retailing were dependent on the tobacco industry. Other arguments 
against plain packaging include suggestions it could lead to a fall in price or an increase in the 
illicit/black market.


	 An alternative to plain packaging is a rise in tax on tobacco products. The fiscal effects of a 5% 
rise in cigarette prices due to higher taxes is shown in Figure 3.


Smoking in the UK


•	 10 million adults smoke
•	 22% of men and 19% of women smoked in 2013
•	 51% of men and 41% of women smoked in 1974
•	 200 000 children aged 11-15 start smoking each year
•	 The cost of 20 cigarettes has risen from £2.27 in 1993 
	 to £7.98 in 2013
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Figure 3


Cost/benefit 2010-11
£ millions


2014-15
£ millions


Increased tobacco taxation revenue 427.4 439.9


NHS cost savings 23.5 31.9


Income tax/VAT revenues from longer
working lives 14.2 15.7


Income tax/VAT revenues from 
reduced absenteeism 12.6 21.0


Reduced disability benefits paid out 33.0 33.5


Increased pensioner benefits due to
longer lives –3.3 –3.9


Total 504.9 533.5


All figures at 2010 prices


Results from a public finance analysis of a 5% increase in cigarette prices.


Positive numbers = net revenue gain. Negative numbers = net revenue loss.


Source: ASH (Action for Smoking and Health)


	 Tax revenue from tobacco amounted to £12.3bn in 2012-2013 helping to reduce the soaring 
fiscal (budget) deficit of almost £100bn. However, about 7% of manufactured cigarettes and 
around a third of all hand-rolled tobacco consumed in the UK is illegal. Tobacco smuggling 
from European countries, where cigarettes are much cheaper, results in a loss to the Treasury 
of around £1.6bn a year in tax revenue. Increased subsidies for nicotine replacement therapy 
– nicotine patches, gum and lozenges – seems much less controversial than plain packaging. 
There is more evidence globally of their effectiveness in the battle against smoking than plain 
packaging.


	 (e)	 With the aid of a diagram and using the data, evaluate the effects of a 5% increase in the 
price of cigarettes brought about by a rise in indirect taxes.	 [10]







Diagram is sufficiently correct and referenced - AO1 band 2.



Impact is analysed - AO3 band 1 shows understanding of the process







More strong analysis linked to the.  context and the diagram. AO3 band 2



Simon Harrison



More strong analysis - they have easily reached the top of band 2 for AO3 now. 



This section is less convincing - neither of the evaluative points are really developed, making this a band 1 answer. Just because there are two points does not put it to the top of the band, and the lack of development led to this ebing awarded AO4 1



The total in this case is therefore 7. AO1: 2, AO3: 4 and AO4: 1
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reduced absenteeism 12.6 21.0
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Increased pensioner benefits due to
longer lives –3.3 –3.9


Total 504.9 533.5


All figures at 2010 prices


Results from a public finance analysis of a 5% increase in cigarette prices.


Positive numbers = net revenue gain. Negative numbers = net revenue loss.


Source: ASH (Action for Smoking and Health)


	 Tax revenue from tobacco amounted to £12.3bn in 2012-2013 helping to reduce the soaring 
fiscal (budget) deficit of almost £100bn. However, about 7% of manufactured cigarettes and 
around a third of all hand-rolled tobacco consumed in the UK is illegal. Tobacco smuggling 
from European countries, where cigarettes are much cheaper, results in a loss to the Treasury 
of around £1.6bn a year in tax revenue. Increased subsidies for nicotine replacement therapy 
– nicotine patches, gum and lozenges – seems much less controversial than plain packaging. 
There is more evidence globally of their effectiveness in the battle against smoking than plain 
packaging.


	 (e)	 With the aid of a diagram and using the data, evaluate the effects of a 5% increase in the 
price of cigarettes brought about by a rise in indirect taxes.	 [10]







Good diagram, but not used at all in the answer. AO1: 1



Very strong analysis of a number of effects, well linked together and backed by source evidence (not required, but helpful). This is clearly a top of band 2 section. for AO3







One decent counterargument, in context



A second well developed counterargument. This is enough for band 2 of AO4



Overall, the answer is therefore worth 9. AO1: 1, AO3: 4 and AO4: 4
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of around £1.6bn a year in tax revenue. Increased subsidies for nicotine replacement therapy 
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Candidate appears not to understand the meaning of the word ‘imposition’



Repeating the data without analysis



Now analyses what the data that they lifted, albeit indirectly.



Wrong diagram







Not correct



Repeat.



There is nothing for the diagram (AO1: 0), there is some AO3 - inelastic with impact on revenue, but not very convincing, hence band 1 AO3 (2) and there is no real counterargument, so AO4 0.
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